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Cell structures

Less than 80% of the items that

Almost all items (80-90%) that

Every item that needs to be

included need to be identified are present | need to be identified are present | identified is present and has an
and have analogies and/or it is and have an analogy. It is clear | analogy. It is clear which analogy
not clear which analogies goes which analogy goes with which | goes with which structure.
with which item. structure.
Cellular Fewer than 80% of the cellular Almost all (80-90%) cellular All cellular functions are correct and
Functions functions are correct and/or are functions are correct and are are included in with the analogy
included in with the analogy included in with the analogy statement.
statement. statement.
Appropriate Fewer than 80% of the analogies | 80-90% of the analogies fit well | All analogies fit well with the
analogy fit well with the organelle’s with the organelle’s function. organelle’s function.
function.
Structure/ Fewer than 80% of your 80-90% of your You communicated a clear and
Function structure/function descriptions structure/function descriptions | original description of how all of the

are clear and/or original.

are clear and/or original.

organelles’ functions match their
structures.




